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Mote : Attempt Five questions in all. Q. No. 8 is compulsory.
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1. (a) TFind the co-ordinates of the circumeentre of a
t triangle whose vertices are (=3, —1). (-1, 3) and
(6, 2). 8
wh T w i T e s s i
TG (-3, —1), (<1, 3) @ (6, 2) ¥ ‘
(b)  Find the equation.of the right bisector of the segment
Joining A(l, 1) and B(2, 3). 8
A(l, 1) 921 .B(2, 3) ® o a@ @ve $ we
fgwrsier =1 e 9w wifeg |

1 : 1
2. (a) The pth term of an AP is E and gth term is };

Find the (pg)th term. 8

T 1 s 1 o B
TH AP W opal TR E aanqmt{?:;g;(pq)ar
g A| SIS |
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(b) Sum the series : 8
0.6 + 0.66 + 0.666 + ......vecna to n-terms
g 0.6 + 0.66 + 0.666 + ..o,  p-oR qE A
IREAELEE
3. (a) Bvaluate [xy2x+3dx. ' 8
Ix\/2x+3dx EAl i o B I
(b) If the AM. between ¢ and b be equal to n-times
their G.M, find the ratio of « and b. 8
afg ¢ qM b H TA AM. _3355\ GM & n-TF &
TEX F, W g a4 b F AU T HIAC |
4. (a) Evaluate '[\/; e& dx . 8
J'\/I N gy melehA iy |
(b) Evaluate J-_:n : dx 8
’ V2x“ +3x+4
j /—“""—1 —dY 1 iR it |
2x% +3x+4
S ) Prove that : 8
1 a9y L 1 22
.[)xe d,x—z(c —1)
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fam wAf B

ﬁxez“'dx = i—(ez - 1)

(b) The marginal cost function of a firm is MC = 33
log x. Find the total cost function and average cost

function when the cost of producing one umit is
Rs. 11. 8

TF FH W oA ard MC =33 logx T | FA
ANE BER G Ud OFE GO T wifey el
TF TEE Bl IORA | i1 W T 1

6. (a) Solve for x : » 8
log,o3+log)g {4x +1) =logyg(x+1)+1
x & TaQ e wifag

logyy 3+ logyo (4x +1) =log;o (x+1)+1

(by Evaluate : 8
(3.142) x(0.078)"”
(0.005)""*
gegiend RIEY
(3.142) x(0.078)"
(0.005)""*
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7. (@) In how many vears will o sum amount to 2— times

SN I

itself at 9% p.u. compound interest 2 8

9% =fam “orgls = = W wE i e

v . a0 ol . .
CEE H e s 2 wmow S 2
3 e
(b)  Find the effective rate of interest of £% p.a. payable
quarterly, 8
TR <9 8% hoad A werEh e e sm
Al
Compulsory Question ( 219amr wr)
8. (a) Simplity : 3
< .
log,, blag, clog . dlog , u.
' log, blogy clog, dlog, v 1 WE Fifwg |
{b) « Bvaluate jlogx. el . 3
flogx.dv = wetsm whifem
(¢) Find the slope of lines passing through the points.
!

% (0, 3) and (3. 6). 3

g (0.3) @@ (3, 6) ¥ T TEE e el
i B T @ﬁr’nﬂ%kj_ |
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—
(d)  Which term of the series 3
12+9+6+ .. ... is equdl to -30,
S 12+9+6+ ... B BEE T 30 F TR
-
Evaluat _[(\/;+ »L]dr
(e) valuate TR ) 3

(-4 o o
(f)  Define AP, ' |
AP @l wRerftm Wi |
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